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ukV & 1"u 1= rhu [k.Mk e: folkDr g A BHkh rhu [k.Mk di 1"u funi"ku Bkj gy
dnft; A vdk dk folkktu 1R;d [k-M e fnjk x;k g A

Note: Question paper is divided into three sections. Attempt question of all three section
as per direction. Distribution of Marks is given in each section.

[K.M & "/* Section - 'A"

IR;d bdkb I nk 1"u gy dhft;i A
Attempt two questions from each unit.
virymrrjh; 1°u] "iCn Thek 30 “knk eA (10x2=20)

Very short answer question (word limit 30 words.)

bdkb & T / Unit -1

1. iRk @1 g ?
What is statistics ?

2. AT fAfd @1 @ iy © ?

What is meant by census methods ?
3. UNRIHE® FHGI B GRENT ST |

Define Primary data.
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bdkb & IT / Unit -IT

4. HHN A T P
What is Mean ?

5. HHT MY T qHT & ?

What do you understand by Median ?
6. fawHar @1 aRyMmT AR |

Define skewness.

bdkb! & TIT / Unit -I11

7. UfHROT F 3T AT FHST & 7
What do you mean by Dispersion ?
8. fowR & w7 oM § ?
What is meant by Range ?
9. YA fage™ w8 ?

What is Standard Deviation ?

bdkb & IV / Unit -1V

10. HE—\dY W 1 AWMU T ?
What is meant by Correlation ?
11, T[OT% BT TS |

Explain coefficient.
12, v fayq @ § ?

What is standard Error ?

PA-078 P.T.0.



13.

14.

15.

16.

3

bdkb: & V / Unit -V

e TR ?

What is Index Number ?

SUITHIT Hed JAbIdh I T AU 7 7
What is meant by consumer price Index Number ?

BT Soft & 1 Iy © P

What is meant by Time series ?

[k.M & c* Section - 'B'
yAmRrjh; 1"u %'Cn Bhek 60 "kCni
Short answer question (words limit 60 words)

IHO 1"u gy dhft;A

Attempt all questions.

bdkb & T / Unit -1

TiReg®T BT W7 BT IRAT HIFTY |

Discuss the limitations of statistics.

VFkok@OR

Il FHBT BT Hdbfold DR Bl AT DT AT BIfoTd |

Discuss methods of collecting Primary Data.

5x6=30
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bdkb & IT / Unit -IT

17. AP & UGN Bl IR ¥ |qHesy |

Explain Merits and Demerits of Median in Detail.

VFkok@OR

=T el ¥ BTt T @1 fIwHar Jone s1d I |

Calculate Karl Pearson's skewness from the following data :
HIY (Measurement) : 10 n 12 13 14 15
Jrgfed (Frequency) 2 4 10 8 5 1

bdkb' & IIT / Unit -ITI

18.  UHEIY fa=rel= &1 ALY |

Explain Standard Deviation.

VFkok@OR

=T arimel ¥ Iqid faeel= qT SHGT ol S BT

Find out Quartile Deviation and its coefficent from the following data :

Mg @y H (Age in years) 15 16 17 18 19 20 21
O & AT (No.ofStudent) : 4 6 10 15 12 9 4

bdkb' & IV / Unit -1V

19. % de¥ W TP dfera fewoh foRRau |

Write a short note on correlation.
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21.

®)

VFkok@OR

T el &1 FERIAT ¥ dlel [UgH- FEdad o S1d DI

Calculate Karl Pearson's correlation coefficient from the following data :

X n 10 9 8 7 6 5
y . 2 18 12 8 10 5 4

bdkb & V / Unit -V

fcere YT ¥ «aF < AT 910 9Hssy |

What main points should be taken into consideration while constructing index

number.

VFkok@OR

IO (e dTel™ ygfed) o R 3§99y |

Explain the trend (Long term trend) in detail.

[k.M & "I* Section -'C'
N2KMRrjh; 1"u&
Long answer question:

futukfdr e: I fdUgh nk 1"uk dk gy dhft;A

Attempt any two questions from the following:-

bdkb & T / Unit -1

feee w1 & ? e o fafa= fafdat o wdfera faarer S |

What is sampling ? Discuss briefly the different methods of sampling.

2x15=30
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22.

23.

24.

25.

(©)
bdkb & IT / Unit -IT

fr=ifhd AHBl & ALIDBT Bl TOET BT —

Calculate Median from the following data :
3dh (Marks) . 010 10-20 20-30 30-40 40-50 50-60 60-70
rrgfed (Frequency) : 7 10 15 20 25 12 10

bdkb! & TIT / Unit -I11

=T aTirel ¥ YA faerer T[onies IRE e BTy

Calculate standard deviation from the following data :

g ATPR : 20-30 3040 4050 5060 60-70  70-80
(Size of item)

Gﬂ‘cﬂ?d (Frequency) : 2 23 0 22 11 7

bdkb & IV / Unit -1V

=T affdrel @1 FETIar ¥ dlel I Agdeay qolid A1d Hiford

Calculate Karl Pearson's correlation coefficient from the following data :
X 1n 10 9 8 7 6 5
y 20 18 12 8 10 5 4

bdkb: & V / Unit -V

f=ferRad erhsl A I8 Y fAfSr gIRT 1990 BT MR Y HFHI dY 1997 b
foru S frate =g fAcere sira v
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Calculate the cost of living index number using aggregate expenditure method for

the year 1997 with 1990 as base year, from the data :

1990 1997
Eiss| oA gbTg H DA Ul SHTS DHIAT UfT gh1S
(Commaodity) (Quantity in unit) (Price per unit) (Price per unit)

1 100 8.00 12.00

2 25 6.00 7.50

3 10 5.00 5.25

4 20 48.00 52.00

5 65 15.00 16.50

6 30 19.00 27.00

--00--
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